@ (ax-2)+ (7-2x) = 2x-5
(6% +2y%) =20 = 3x%) = 7a°
® (x+y)* =x"+ 3% + 307 +y°
@ (x+y+2)? =22+ +2° + 20y + 2z + 2

® (FP+1)+(x+1)=x-x+1

O (4x-2)+(7T-2x)=2x+5




2. (x-2y- 307 S Arfete] o] that AL R Bejshu?

D x? + 4y? + 9z% — 4xy + 12yz — 62x

@ x% —4xy+4y? — 9722 + 12y7 — 6zx
@x2 — (4y + 62)x + 4y? + 12yz + 972

@ 4y? +12yz + 92% + (—4y — 62)x + x*

® 922 +4y* + x2

(x =2y —32)% = x? — (4y + 62)x + 4y? + 12yz + 972




3. o4 (a-b)(a* +ab+ b*) & HIN5HH?

O a®-0p? @a3—b3
® a®+ b3 @ a3+ 3a®b + 3ab* + b°

® a3 -3a®b + 3ab? - b3

A (a-b)(a® +ab+b%) =a®-b?




A 232 —dx+5 =09 £ 2 a9 gt T 0, o + 29

| Ot

a+p=2, a’ﬁ_2

B +B=(a+p)>-
=8-15=

2% —4x+5=09 F &

3a/,8(a/+[3)=23—3><g><2

=7




oA A 252 ~6x+4 =09 F L&

® -9 @ -2 ® 0

a, gt

@

o, o+ 5% 27

® 13

a+p=3 of=2
?+p=(a+p)?-2e=9-4=

5




@ 8

Tt Alg=ete] A of] oJstoq
a+p=2a8= —%
a3+ B2 = (a +B)? - 3aB(a + B)

1
=8-3x(~3)x2=11




7.

ol y = 262 + kx — k & T# I} xE3} vhiE

o] grol ohdl Z1e?

@® -8 @—1
B

® 0 @ 5

Jpu

® 8

Cjp=h=]
k* 48k > 0, k (k+8)
k< 8E—k>0

oA 2] 2x% 4 kx—k = 091 D = k> -4-2- (k)

>0

> 0°]ofof




o, o; @ @ -2

1
0= —(x-27

o dE =2

Z, x=2%2 o, g0




®y=-(x-1)? @ y=--(x+5)?

© x=0 9 o, At 32 2t
@x=0 o, AUk -5 & Ao}
®x=19 1, Hgog 2Er}
@ =5 L W, Aokt 0 2t
©x=09 W, HaAgk 02 2Er




10.

OGS y = ~24% + dx + 1 9] ATGS A2

@1 @ 2 @3 @ -1

y=-2x2+4x+1
=-2(x-1)2+3
x=1% o, 9%k 35 2=t




11. gk x+ 190 F o34 22 +3x +a, X2 +ax- b9 H42F
WS L(x) 2t & o, L(1) 9] 3427

@D 6 @ 8 @ 10 ®)12 ® 14

B ~
g4t x4 10182
= chg o] x = -1—.2._— 15t 0o] Het.
1-3+a=0..a=
l-a-b=0 .b
watA £ opgale 77}
+




12, xoll B2 3704 x4 pa? g2, 2° = (3q-p)x+2(q-1) | HFFF7}
x—19 w, pg o gh& F-51H?

@-2 @—1 @0 @1 @2

B
f(x) = x° + px* - ¢,

q(x) = x> = (3¢ - p)x+2(¢-1) =t H2H

F Tt x - 10|82
f)=14+p-¢*=0--O

g(1) =1-(3¢-p)+2(g-1) =0°fA
p—q—lzo...@

A, 00 ¢2-q-2=0, (g-2)(g+1)=0
(i)g=2¢9,0Op=3

fx) = (x=1)(x+2)% glx) = (x=1)*(x+2)
.. G.C.D7} x— 103k Ao B2
(i)g=-1¥4 ™, O p=0
fx)=(x-1)(x*+x+1),

gx) = (x-1)(x* +x+4)

. GCD=x-1

S pg=0




13. % o34 f(x) = x° — ax + b,g(x) = x% + ax — 2b °] L5}
x=19 o, f(x),8(x) o HaFuisE F-5HA?

O -2+ )+ @G-+ )+ 2)
® (-DE+12(x+2) @ (= (x+4x+2)

® (x-1)(x+4)(x+2)?

~&B

Q1= ol o)

f)y=1-a+b=0
g)=14+a-2b=0
AYSIH g =3,b=2

flx) =2 —3x+2
ZHAIHE o]-85tH,




14.

o b
=

A

7= (2+i)a® + (1 +4i)a+2(2i - 3)°] =35 of, A

3 5
@ -2 @1 @5 @3 ® 3
7= (2d®> +a-6)+ (a® + da + 4)i
£o5|5o0lBR 2a2 +a—-6=0
= (a+2)(2a-3)=0
=4 a——QEEI_a_g
JHY g =299,
a® +4a+ 4 = 00°] Hoj £357t AHHA et

3
a=—

2




15. A% kol joto] Bad o = 3k + 2) — k(1 - )2 9] gro] 28157}
|52 ko) ghe oY

O -2 )0 @1 @ 2 ® 3

z = 3(k + 2i) — k(—2i)
= 3k + (6 + 2k)i = &=d|F
L 3k=0,k=0




B4 (14 2)x - (2+i)y+iS AFIAEY 97 =it o] o,
x+y9 2?7 (&, i= V-1 0] x, yi= AFolrh)

D)2 F=—4 @ 2EE-3 ® -1F=3

@ -1%+=-3 ® -1%=-2

x-2=0, 2x—-y+1)>=9

x=2y %2 —-y+1=+32 AH5t] =
2 4
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17. f(x) = (

1_x>100

1+x oéuﬂ’f(

1-

@2 ® 1+i

~&B

1-|-t

e me

® -1-i

14+ . 1-i
=1
L—i 71+

(75) +1 (153)
= (i) + f(-i)
100 .\ 100
== (=)
= (_,')100 4 (l-)loo —9
xi' = 10|22 % =1

=-i o|]E=




18.

@1 @)2 @ 3 @ 4

n=14% o,

V2 V2 V2(1-i) 4+ V2(1 )
1+i 1-i (1+i)(1-1)
n=2dd, 24 2 _ 2,2

A+ (1-02 2 -2
382 HE=ghn =2




1+i 2
1-i 2 !
1-i -2
1+i 2

i2n+1 + (_i>4n+1 (I’l =% —1 ];H?J)
PO+ (A1) +1

— i4k_1 —i

=—i-i=-2




2n
20 (g) _ -1 g WEShE A o Ftol ofd A2 (
i=+V-1)
@ 2 @6 ©) K @ 10

(&) -G -

"=-1°lAEslHAH A n=4dm+2(m>0)
®:8=4x2+0
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21. xz% A o, p=2x% - 2x% - 5x + 3 & S F35H4A?

© 2+i @ 2-i ® -2+i
@—4+i ® 4+i

B

3+i
T2
(2x=3)2 =i A 2x2 -6x+5=0
LAl Asgsto] it U 25 Letd
2x3 —2x2 —5x+3
= (202 = 6x+5)(x+2) +2x -7
=2x—-7

- 3+i)_
_2< 2 g

=—4+i

x ol 2x -3 =i




z= A of 25 + 3z & o] ohH?

1-V3i
@ 1+ V3i @2+\/§i ® 3+ V3i
@ 24 2+3i ® 3+33i

~&B

2
= N 2—z741=0 .. 23=-1
1— V3i
P+3z=-22+3z=—(z-1)+3z=1+2¢
1+ V3i

5 o|EE 14+27=2+ V3i




